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TORSION OF A NON-CIRCULAR BAR

Jan Franctu* Petra Novackovd*®, Premysl Janicek**

The contribution deals with strain-stress analysis of torsion of a non-circular bar.
Mathematical model is exactly derived and solutions are introduced and visualized
for cases of triangular, rectangular and some other profiles.

Keywords: torsion of non-circular bar, Airy stress function, rectangular profile

1. Introduction

Analysis of properties, states and behavior of technical objects is an important task
of Engineering Mechanics. Strain-stress analysis of solid bodies ranks to these problems.
Continuum mechanics and especially elasticity theory provides tools for this analysis.

The strain-stress analysis passed through its development, analytic approaches predom-
inating in the past are at present replaced by numerical tools as Finite Element Method,
Finite Volume Method, Boundary Element Method etc. In comparison to the classical meth-
ods the numerical methods are universal in sense that their applicability is independent of
geometry of the body, material characteristics, etc. This may indicate that the period of
analytical elasticity ended. But it is not the case. There are reasons to keep on using both
the analytical methods and the numerical methods in the strain-stress analysis.

The numerical methods (e.g. FEM) enable to compute numerical values of strain-stress
state of the particular material in particular points under particular loads. On the other
hand they provide no formulas which can be used for predicting the change of the values
under changing the load, size, stiffness etc. The analytical methods yielding formulas enable
this prediction. Unfortunately they can be applied only to special shapes of bodies and
loads.

Also interpreting results obtained by numerical computations requires basic knowledge
of mathematical elasticity, which causes troubles to many engineers in practice and leads to
doubts whether the results obtained by numerical methods are correct. Analytical theory
of elasticity can be a tool for verification of the numerical results.

This knowledge, hidden in formulas obtained by analytical methods, is a suitable tool for
finding dangerous places of loaded bodies. For example torsion of a bar with cross-section
that can be split into various rectangles. Analysis of shear stress of the particular rectangles
enables to deduce the following results: in the case of open profile the maximal shear stress
appears in rectangles with maximal thickness, in the case of closed profile it appears in
the rectangles with minimal thickness. These results can be obtained also by numerical

* prof. RNDr. J. Francu, CSc., Ing. P. Novackovd, Institute of Mathematics, Faculty of Mech. Engineering,
Brno University of Technology
** prof. Ing. P. Janicek, DrSc., Institute of Solid Mechanics, Mechatronics and Biomechanics, Faculty of
Mech. Engineering, Brno University of Technology



46 Francu J. et al.: Torsion of a Non-Circular Bar

methods, but it requires computations of many variants of the profile.

We believe that the introduced facts sufficiently justify publishing a contribution dealing
with an analytic method in the present period of numerical computations.

Torsion of the elastic bars is studied in several textbooks, see e.g. [3], [4], [2],[8], but the
results are mostly introduced without proofs or circular cross-section only is considered, e.g.
in monograph [1]. In this circular case the cross-sections remains planar, but in case of
non-circular bar, the real cross-sections are deflected from the planar shape. The equation
for a non-circular bar is derived correctly in [7], but no solutions for particular profiles are
introduced.

The aim of this contribution is to fill in this gap: torsion of a bar with constant profile
is analyzed using the Airy stress function. Complete exact derivation of the mathematical
model is introduced. The second part contains explicit solutions for some non-circular
profiles: starting with profiles given by polynomials. The case of rectangular profile is
solved by means of Fourier series. The solutions (Airy stress function, modulus of sheer
stress and deflexion) are visualized in pictures by their level curves drawn by the system
MAPLE. The case of hyperbolic section profile seems to be new.

Let us mention an older monograph [5] published in 1953 by Anselm Kovaf in Czech. It
starts with history of the torsion theory: the first solution of the non-circular case in 1836
by L. Navier assumed planar cross-sections which led to incorrect results: the stress attains
its maximum in the most away points from the center of the cross-section. Using continuum
mechanics B. Saint-Venant 1847 published the correct solution. The Kovai’s monograph
contains both technical and general mathematical torsion theory. It contains solution for
several profiles: rectangle (by four methods), equilateral triangle, regular hexagon, octagon
and other profiles, in [6] even the regular pentagon is solved; but the results are not obtained
by the Airy stress method.

2. Theory

We shall consider an isotropic homogeneous long prismatic bar. According to the tradi-
tion in mechanics the axis of the bar coincides with z-axis, the cross-section denoted by {2
is a set in the y, z plane, see Fig. 1. The bar is fixed at z = 0 base, the opposite base z = £
is twisted by angle £ a. We adopt the following assumptions:

— the cross-sections in the y, z-plane rotates as a rigid body. In the case of a non-circular
shape 2, the cross-section is not planar, it is deflected in the z-direction,

— the deflection and the twist rate « is constant along the whole length of the bar. Thus
the problem is reduced to a two-dimensional one.

Fig.1: Orientation of the axis
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2.1. Strain analysis

Let us assume the following geometrical behavior : According to the Saint-Venant hypoth-
esis, the displacements u, v, w in directions x,y, z under these assumptions can be written

in the form

u=ap(y,z),
vV=—azrz, (1)
w=azy,

where ¢(y, z) is an unknown function describing the deflection. It is supposed to be dif-
ferentiable. Simple computation yields the corresponding strain (small deformation) tensor

e ={ei}

Simple computation yields

Oex, Oexy a [ 0% 0?p
— = — 1 — 1 - .
dy 0z 2 <8y 0z + 0z 0y * @ 3)

2.2. Stress analysis

The Hooke’s law of linear elasticity is written in the form:
Tij = Abij(exx + eyy + €22) + 2 €5 (4)

where Kronecker’s delta d;; = 1 for ¢ = j, otherwise §;; = 0, and A, p are the Lamé constants.
The sheer modulus p is also often denoted by G. In our case the trace exx + eyy + €4, equals
to zero. Substituting (2) into (4) we obtain the components of the stress tensor 7 = {7;;}

7-xx:Tyy:Tzz:Tyz:Ov
¢

Txy = 2 [ €x :a,u<——z) ,

Y Y y (5)
0

sz:2ﬂexz:aﬂ(_w+y> .
0z

The equilibrium equations j 0;7ij = fi with zero forces f; reduce to

OTxy  OTxy OTxy OTx
) =0 =0 =0. 6
Oy 0z ’ Ox ’ Ox (6)

For a simply connected domain €2 the equalities in (6) yield existence of a function ®(y, z)
independent of x such that the only nonzero stress components 7y, and 7y, given by

_0%(y,2) _ 09(y, 2)
Txy = Q[ 02 , Txz = —Q U dy (7)
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satisfy all the equilibrium equalities (6). Let us express the components eyy and ey, using (5)

by means of ®
1 a 0P 1 a 0P

xy — 5 Txy = 5 3. > xz — o Ixz — T 5 3 8
Exy QuTy 2 0z ¢ QuT 2 Oy ()

and using (3) we obtain

dex, Odexy  « (82® 82_<I>> .

y 0z 8—y2+822

The last equality can be rewritten into an inhomogeneous second order partial differential

equation
0%’ 9%

2.3. Boundary condition

The equation has to be completed by boundary conditions. We assume that the boun-
dary I' is a piecewise differentiable simple curve and can be expressed by equations with
parameter s being the arc length of the curve I'. The curve is oriented such that the domain
is on the left-hand side when the parametr s grows, see Fig. 2. Except for the ‘corners’ the
unit outer vector n = (ny,n,) normal to domain 2 exists on the boundary curve I'.

N7

W

—N,

T Y

Fig.2: Unit vectors normal and tangent to I'

Since zero surface forces are considered, on the boundary I' the traction vector T =
= (Tx, Ty, T,) has zero components. Inserting 7xy, 7, from (7) to equality Tx = 0 we obtain

0P 0d )—O.

Ty = Txy Ny + T Ny = fL O (
But (—n,,ny) is the tangent vector to boundary I'" of domain {2, see Fig.2. Thus (10)
implies that the tangent derivative of ® equals to zero, and therefore ® is constant along
each component of the boundary I'. For a profile with no holes the boundary I" is connected
and we can choose the constant to be zero. Thus we have arrived to the boundary value
problem for the so-called Airy stress function ®(y, z)
0?® 9% )
A@ = a + W = —2 1mn Q ,
®=0 on I.

If the profile © has holes (the so-called multi-connected domain ) then the boundary T’
is not connected. Besides the outer curve I'y the boundary I' consists of one or more
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components I';. Then the stress function can attain different values on each T';, i.e. there
exist constants ¢; such that ® = ¢; on I';.

2.4. Torque, section moment and stress

Let us compute the torque M of the twisted bar. It can be computed from the stress
tensor 7 as follows

M://(—Txyz+7xzy)dydz.
Q

Inserting from (7) we obtain

0P 0P
Mz—oz,u//(az—&—a—yy)dydz.
Q

We shall use the so-called integration by parts in the plane with z-derivative

//ﬁgdydz:/fgnzds—//f@dydz
0z 0z
Q r Q

and the similar formula for the y-derivative (both formulas follow from the Gauss-Ostro-
gradskii theorem). Since ® = 0 on the boundary I" (in the case of the profile without holes)

we get
M:2a,u//<1>dydz.
Q

We obtained dependence of the torque M on the twisting rate «
M=apd, (12)

where the moment of the cross-section J is given by

J=2 é/ d(y,z)dydz . (13)

In case of a profile Q = Qg — U; Q; with holes ; putting ® = 0 on the outer boundary I'y
and ® = ¢; on the boundary curves I'; of holes then

J:2//<I>dydz+2 > el (14)
o ‘

where |©;] is volume of the hole ;.

How to find maximum stress? In our case the modulus of the stress force T'(n) =
= Ty Ny + Txa 11 18 [T = [12, + 72,]1/2. 1f the cross-section € is a convex set and function ®
is zero on T, then the function ® is strictly concave and its y (or z) derivative is decreasing
in y (or z) direction. Thus the derivatives cannot attain their extremes inside . Since the
tangent derivative of ® is zero at I', the modulus equals the normal derivative of ®. Thus
the maximum can be found on the boundary I', at the boundary point which is the nearest
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to the point of maximum value of @, since there is the biggest slope of ®. The maximum
value of the stress |T'|max which is important in engineering practice is often expressed in the
form |T|max = M/W, where M is the torque and W is a quantity called the twist section

modulus. It is defined
M apud

|T|max ‘T‘max

(15)
and for particular shapes is expressed by means of section dimensions and a shape constant.

2.5. Summary of the results

Let us summarize the results. In case of the profile without holes we compute the Airy
stress function ®(y, z) as the solution of the boundary value problem (11). Then (13) yields
the torsion constant J and from (12) we get dependence of the twist rate a on the torque M.
The non-zero components Txy, Tx, of the stress tensor are given by (7).

To obtain the displacements we need to compute the deflexion function ¢. Combining (8)

and (5) we obtain

Op 0P dp 0P
3y_3z+z’ 32__3y_y' (16)

It is the problem of finding a potential ¢(y, z) from its differential
de=fdy+gdz.

Easy calculation verifies that due to equation (9) the compatibility condition df/dz —
—0g/0y = 0 is satisfied, thus the potential ¢ exists up to an additive constant. To ob-
tain unique deflection function ¢ we add zero integral mean condition

// e(y,z)=0. (17)
Q

Then the displacements u, v and w are given by (1).

Let us remark the dimensions of the quantities. The displacements u, v, w and deflection
function ¢ are in meters [m], strain tensor e is dimensionless, twist rate « is in [m~!], Airy
stress function ® is in [m?], moment of the cross-section J in [m*], the twist section modulus
W in [m3], the sheer modulus pu, the stress tensor 7, the stress vector 7' in [N m~—2] and the
torque M in [Nm].

3. Examples

The crucial point of the computation is solving the boundary value problem (11). We
start with polynomial stress functions. Let a polynomial P(y, z) satisfy

o?’P  9°P
AP= —+ — =-2. 18
0y? + 072 (18)
If the contour line T' = {(y, 2) € R*| ®(y, ) = 0} bounds a bounded non-empty domain €,
then we obtained the solution of the boundary value problem (11) on a cross-section €.
Since in case of convex ) the polynomial P is strictly concave, also the problem is solved
also for cross-sections €2 given by P(y,z) > ¢ for positive constants ¢ > 0.
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Considering general second order polynomial
Py(y, z) = a2 y® + a1 yz + ao2 2° + a10y + ao1 2 + ago
we obtain APs(y, z) = 2as + 2 ap2, which yields the condition
aso + age = —1. (19)
Thus any polynomial P, satisfying the condition (19) solves the equation (18). In this

case the only bounded cross-sections are ellipses including the circle. The case of ellipse
cross-sections will be solved in Section 3.1.

Let us consider a third order polynomial

P3(y,2) = azoy® + ao1 y?2 + a0y 22 + agz 2> + Po(y, 2) .

Simple computation yields
AP3=6a30y+2a012+2a12y+6ag3z+2as0+2ag2 -

To obtain a solution of (18) we complete (19) by two additional conditions

3azg+ a2 =0, as1 +3ap3 =0.
Thus for any ¢, 2 € R and any polynomial P, satisfying (19) the polynomial
Py(y,2) = c1y(y® = 32%) + 22 (3y° — 2°) + Pa(y, 2)

is a solution to (18). The only bounded cross-sections determined by third order poly-
nomials are hyperbolic segments studied in Section 3.4, and their limit cases equilateral
triangles studied in Section 3.3. Besides these cross-sections 2 also their subsets 2. given
by {[y, 2] | Ps(y, z) > ¢ for ¢ > 0 are solved.

In the case of a forth order polynomial
Py(y,z) = asoy* + as1 y*z + ana 2% + a3y 2° + aoa y* + Ps(y, 2)
a similar computation yields additional conditions
6 a0+ aze =0, asy + a3 =0, ag2 +6ags =0

to the previous ones. Thus for any ¢1, ¢o, ¢3, ¢4 € R and any second order polynomial Py (y, 2)
satisfying (19) the fourth order polynomial

Py(z,y) =c1 (W =6 9222+ 2N 4 coyz (P —2%) + 3y (P =3 22) + ca 2 (3y* —2°) + Po(y, 2)

is a solution to the problem (18). We only need to check whether the polynom yields
a bounded cross-section. In this way we can proceed to polynomials of higher orders. On
the other hand the question is whether the obtained cross-sections (2 are bounded and ‘useful’
in engineering practice.
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3.1. Elliptic profile

The only bounded €2 given by second order polynomials are ellipses. Let us consider the
ellipse I' with semi axes @ > b > 0 in the standard position

2 2

y z

i1,
Sty

The corresponding stress function ®

2 2
y z
q>(y>z):k<a_2+b—2—1)

clearly satisfies ® = 0 on I' and condition A® = —2 yields value of the constant & =
= —(a=2 +b72)~%. Thus the solution ® of the problem (11) is
a2 b2 g2 22

The obtained Airy stress function ® is plotted by its level curves on Fig. 3a. The moment J
of the cross-section can be computed using (13). Using the elliptic coordinates y = a p cos ¢,
z = bp sin ¢ with Jacobian a b p we obtain
! 3 b3
a
/ Dl =T
0

—2// (y, 2 dde—47T

In the case of circular cross section Q with a = b = R we obtain J = m R*/2, see e.g. [1],
page 251.

From (5) we can see that the only non-zero components of the stress tensor are

a’z b2y

Txy(y,Z):—20é,U/m, sz(y,Z):20[/,Lm.

The modulus of the shear stress
/a4 Z2 + b4
‘T‘ T)?y sz 2 ap 2 4 b2

is plotted on the figure by its level curves on Fig.3b. It attains its maximum |T|max =
=2apa’b/(a® +b?) in points [0, £b]. The twist section modulus is W = ma b?/2.

(a)

Fig.3: Elliptic cross-section with p =1, a =1, a =1 and b=1/2: (a) stress
function ®, (b) modulus of the shear stress T, (c) deflection function ¢
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Concerning the deflection ¢, in our case the equations (16) read

Ao a? ) b?
9P _ 9y 2
tz, 0z Va2 + b2

EA S P —y.
oy P 4
Standard computation with (17) yields the deflection function ¢

a2_b2
e(y, 2) :—my27

which is also plotted on Fig. 3c.

3.2. Ring profile

Circular tubes are frequent elements used in engineering practice. Torsion of tubes can
be solved by means of the stress function from the previous section. Let Q = {[y, z]|r? <
< 9%+ 22 < R?} be a ring with outer R and inner r radius; R > > 0. Puttinga =b= R
in (20) we obtain the Airy stress function

1
By.2) = 5 (R =y = 2?)
It takes value ® = 0 on the outer boundary 'y = {[y,2]|y? + 22 = R?} and value ® =

= (R? — r%)/2 on the inner boundary I'y = {[y,2]|y* + 22 = r?}. The moment J of the
cross-section {2 can be computed using (14)

1 1
JZQ//5(32—y2—22)dydz+§(R2—r2)7rr2:g(R4—r4).
Q

The sheer stress and the deflection follow directly from those of the elliptic case

Ty (Y, 2) = —apz, Tea(Y,2) = apy T |max = app R, ¢(y,2)=0.

The result functions are not interesting, thus they are not plotted.

3.3. Triangular profile

Third order polynomials enable to solve the case of a triangle profile. Let us consider
a general triangle €2 with one side being parallel to the axis y, i.e. a subset of the line z = —c.
Let the other sides lie on the lines z = a1 y + b1 and z = as y + ba, where a1, a92,b1,b0 € R
and ¢ > 0. Then the level curve P3(y, z) = 0 of the polynomial

Ps(y,z) = k(a1y+b1—2) (a2y +b2 — 2) (2 +¢)
with k& # 0 bounds the triangle Q. Simple calculation yields
APs(y,z) = —2k(a1 +a2)y+2k(araz +3)z+2k(arazec—by —ba+¢) .

The right-hand side is constant if the coefficients by terms y and z are zero, i.e. if a; +a2 =0
and a; az + 3 = 0, which implies a1 = —ag = ++/3. Thus the triangle {2 must be equilateral.
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Choosing by = by = b and b = 2c¢ the triangle has vertices [—v/3 ¢, —c], [V3¢, —c], [0,2¢]
with its center of gravity in [0, 0].

The polynomial Pj is a solution to the problem (11) if the right-hand constant equals
to —2, i.e. =k (ajagc— by — by +¢) = k6c = 1 which yields k = (6¢)~!. We obtained the
Airy stress function

@(y,z)zé(\/gy+2c—z) (—\/§y+2c—z)(z+c). (21)

The moment J of the cross-section can be computed using (13):

2¢ [ (2¢=2)/V3

J:2é / D(y,z)dy dz:g\/gc4.
—¢ \(2—2¢)/V3
The only non-zero components of the stress tensor are
y?—2242cz y(z+c¢)

Txy = —Q [ Txz = O [b

2¢ ’

The modulus of the shear stress

1
il = \f2, + 78 = ap o= OF =+ 22 T A2 (5 F o

is plotted on the figure 4b, maximum values |T|max = 13 ¢/2 are attained in the center
points of the sides, e.g. in [0, —¢]. The twist section modulus is W = 6 v/3¢?/5. Concerning
the deflection ¢, in our case the equations (16) read

8_ap:z2—2zc—y2+ Jp _(z+c)y

Oy 2¢ = 0z c ¥

Standard computation with (17) yields the deflection function ¢

1
oy, 2) = ay(3z2—y2) :

which is also plotted on Fig. 4c.

@

Fig.4: Triangular cross-section with u =1, « =1 and ¢ = 1: (a) stress function ®,
(b) modulus of the shear stress T, the maximum values of |T'| occur in the
middle of the sides, (c) deflection of the cross-section

(c)
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3.4. Hyperbolic segment profile

The third order polynomials can solve also a special case of hyperbolic segment, i.e.
a bounded domain €2 limited by a line y = d > 0 parallel to z axis and a hyperbola
(y +¢)?/a® — 22/b*> = 1 in the y-shifted position with the center (—c,0). The level curve
P5(z,y) = 0 of the polynomial

Pty =k (L2 1) -a)

bounds the domain ) under consideration. Simple computation yields

(30?2 —a?)y+ (a®> —b?)d +2cb?

AD(y,z) =2k peye

The right-hand side is constant if 34> —a? = 0, i.e. a = v/3b. Let us remark that in this
case hyperbola asymptotes along with line y = d bound an equilateral triangle. Further the
right-hand side equals to —2, if k = —a?/(2(d + ¢)) and the Airy stress function is

(a®> = (y+0)? +32?) (y —d)
2(c+d)

D(y,z) = (22)

With a convenient shift ¢ the cross section €2 has its center of gravity in the origin. Since
analytic expression of such constant ¢ is complicated (in practise it can be obtained only
numerically) we will leave it undetermined.

maxe

AN

(a) (b) (c)

Fig.5: Hyperbolic cross-section with pu =1, =1,a =1, d = 2: (a) stress function P,
(b) modulus of the shear stress T, (c) deflection of the cross-section

Components of the stress tensor 7 are

3(y—d)= 3@ —22)+22c—d)y—a®—2cd+ c?
Txz = Q[ )
2(c+d)

Txy =
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the others are equal to zero. The modulus of the shear stress |T'| is plotted in the figure 5b.
Its maximum value is either |T'|max = o i ((c+d)%—a?)/(2 (c+d)) in point [d, 0] if c+d > v2a
of |T|max = appa®/(2 (¢ + d)) in point [—c,0] if ¢ +d < V2a.

Concerning the deflection ¢, in our case the equations (16) read

dp  (By—2d+c)z dp 3y’ —2°)+2(c—2d)y—a® —2cd+

Ay c+d ’ 0z 2(c+d)

It is not difficult to compute ¢

(. 2) 3y?z—22+2(c—2d)yz—(a*+2cd—c?)z

) z = )

Y 2(c+4d)

where the integration constant is zero, since ¢ is odd in z and €2 is symmetric in z. Level
curves of ¢ are plotted on the figure 5c.

3.5. Non-polynomial stress functions

In general case the cross-section cannot be expressed as a level-curve of a polynomial
satisfying the equation (18). Even such case as rectangular parallelepiped cannot be solved
by polynomial stress function. Indeed, a centered rectangle with sides a and b is a level
curve of a polynomial

=)D ().

but APy(y,2) = k[2(y? + 2%) + (a? + b?)/2], which cannot equal to a nonzero constant.
Nevertheless, the problem can be solved by means of Fourier series.

3.6. Rectangular profile

Rectangular profiles are very important in engineering practice. We shall consider a rec-
tangle Q = (—a/2,a/2) x (=b/2,b/2) with a > b > 0. The Airy stress function will be looked
for in form of a double sum of functions having zero values at the boundary I'. To this pur-
pose we choose products of cos(k wy/a) and cos(l 7 z/b) with positive odd integers k, [ since
they are zero at I' and have ‘good’ derivatives. Let us denote the set of positive odd integers
by Noaa = {1,3,5,7,...} and put

k !
Dy, z) = Z Z Ckl COS Y cos%.

a
k€Noaa 1€Noaa

with some coefficients ¢x;. The double sum is supposed to satisfy the equation (9). Inserting
® into the left hand side of (9) we obtain

]{72 2 l2 2 k’ l
Ad(y,z) = Z Z —Cpy [ ;T + b72r ] cos Zy COSWTZ =-2. (23)
k€Ngaa ENgga a

To find the coefficients cp; we express —2 by means of the series of the same type. Let us
expand the even function f(y) =1 on (—a/2,a/2) into a cosine series

kmy
E Ck COS .
¢
k€Noda
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Since {cos(kmy/a),k € Noga} form a complete orthogonal sequence in the Hilbert space of
even square integrable functions on (—a/2,a/2), the coefficients ¢, with odd k are given by

4| a kmy a/2 k=1 4
= b -— i = —1 2 — .
Ch /f cos dy = {kw sin — ]0 (=)™ g

In the same way we expand the function g(z) = 1 on (—b/2,b/2). Thus we obtained

o1 4 k -1 4 l
Z (—1)%]{:—005 7Tyzl, Z (—1)171—005%2:1.

i a
kE€Ngaa 1€NGaa

Multiplying product of both series with constant —2 we obtain equality

it 42 kmy lmz
Z Z —2(=1)z ! F o COS T cos—— = -2 (24)
keNod(l leNodd

Since both series in (23) and (24) are of the same type and have the same sum, the cor-
responding coefficient must be equal. Comparing both series we obtain formula for the
coefficients ¢y :

_o 42 ( 1)k+é—2 K2r? 2p2] 7 ~ 2%a%h? (—1)%_1
klm? a? b2 ot kU(R2D2 +12a2)
Thus the Airy stress function equals to

k+l
-1

25 2 b2 kﬁy Tz
) —_—. 25
(y,2) Z Z Ll k2 b2 1 ]2 a2) o T (25)
k€Noaa l€NGaa

‘We obtained the result in the form of an infinite series. Due to estimate

0 lmz
Y cos o < |eki| < const.

1
Ckl COS ]f2 12 5

the series converge uniformly, since 7, o 37 cn.. . 1/(k*1?) equals to product of two series
(ke V/F (X ke, , 1/17) which both have finite sum. Let us compute the moment .J.
Since

a/2 b/2

kmy 2a k=1 lmz _2b -1
/cos( o >dy lmr( )=, /cos(T)dz l7r( 1)
—a/2 —b/2

the formula (13) yields

Z Z k212 ( k2b2+l2a2)

k€Noda 1€Nsaa

Let us denote the ratio r = a/b. Using a function K(r) the relation can be rewritten to

J =K, (%)ab3,
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T 1 1.5 2 3 4 5 6 8 10 00
K1(r)]0.141]0.196 | 0.229 | 0.263 | 0.281 | 0.291 | 0.298 | 0.307 | 0.312 | 1/3
Ko(r)|0.2080.231 | 0.246 | 0.267 | 0.282 | 0.292 | 0.299 | 0.307 | 0.313 | 1/3

Tab.1: Table with the numerical values of K1(r) and Ka(r)

where the dimensionless function K;(r) depending on the ratio r is given by

Z Z K212 (k2 + r2]2) k2 ,,212)

kENodd l€NGaa
The values of K1 (r) for some ratios r are in Table 1.
Relation (7) yields the nonzero components of the stress tensor

k+l

25 2b kﬂy Tz
Ty (Y,2) = ap E E A k2 b2 + 2 a2) Co o sin -
keNo(ld leNo(ld

k+l
—1) >

a62 . kﬁy lmz
sz(y,z):—a,u Z Z i k262—|—l2a2) u COST .
k€Noaa lE€Ngaa

According to the remark in the end of Section 2, the maximum of the stress is in the middle
point [0, +b/2] of the longer side of the rectangle. From (7) simple computation yields

1

Z Z k k? 7"2[2) :

kENodd 1€NGaa

‘T‘max =

Using a function K»(r) the relation can be rewritten to
a
(Tl = appab®kz (5 )

where the dimensionless function Ka(r) depending on the ratio r = a/b and K;(r) is given
by

)k—l -
K(r) = 25 2 [ > 2 % kz T2
k€Noda l€Noaqa

Some numerical values of K(r) are listed in the Table 1. In mechanics the |T'|yax is often

expressed in the form |T|max = M/W, where the section twisting moment W is given by
W = ab’Ks(a/b).

===

nn\

(a) (b)

Fig.6: Results for a rectangular profile with py =1, a =1,a =2 and b=1: (a) stress
function ®, (b) modulus of the shear stress T; the maximum values of T occur
in the middle of longer sides, (c) deflection of the cross-section
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The deflection function ¢ is given by its differential. Using (16) we obtain

25 43} (—1)"3" Ckmy | lmz
gD(y,Z) = 7(_4 Z Z k2 (kQ b2 +ZQ ag) S1n a Ssin —b +y27
k€Noada l€NGaa

its values are also plotted in the Figure 6c.

In case of more complicated profiles the analytic solution does not exist but the stress
function can be found numerically, e.g. by the finite element method.

4. Conclusion

In the first part the mathematical model of torsion of a non-circular prismatic bar was
built under the Saint-Venant hypothesis (1). All results were derived from well-known
mechanical laws as equilibrium equations (6) and Hooke’s law (4). The Section 3 provides
several examples. Exact solution is given for some profiles with polynomial boundary, the
sufficient conditions are derived. Classical examples like elliptic and triangular profiles are
included. In the end the most important case is studied: the solution of rectangular profile
is solved in the form of infinite series. The numerical values in Table 1 coincide with those
in [8],[5].

Let us mention the influence of choice of the coordinate origin. Shifting 2 by a vector
s = [ys, zs] to Qs ={[y+vs, 2+ 2] | [y, 2] € N} we obtain the boundary value problem (11)
on €. Its solution, the Airy stress function @ is shifted function ®, namely ®4(y,z) =
= ®(y — ys, 2 — 2s). Thus its shape is unchanged. Since the stress is derived from the Airy
stress function, also the stress tensor 7 and stress vector T are shifted without change of the
shape, also the maximum stress is conserved.

The situation differs for the deflection function . It is a solution of the equation (16)
which contains coordinates y and z on the right hand side. Thus the deflection function
©(y, z) depends on the shift, its shape changes with the shift s. Which deflection is correct?
The model is based on the Saint-Venant hypothesis (1) which describes the torsion around
the = axis, i.e. around the origin [y,z] = [0,0]. If it is the center of gravity, then the
deformation given by (1) is acceptable. If the torsion axis (point [0, 0]) is not in the center
of gravity of the cross-section €2, then according to the hypotheses (1) the centers of gravity
of the twisted bar lie on a helix which contradicts the behavior of the real material. Indeed,
in this case the momentum equilibria condition are not satisfied. In all examples the center
of rotation coincides with center of gravity of the cross-section, in the hyperbolic section
case the shift parameter ¢ is not expressed explicitly.

Most of the results are published in many textbooks of mechanics but usually without
proofs or only for circular cylinders and accompanied by a few unsolved examples. In the
present paper the mathematical model is derived in details and there are several fully solved
examples including the rectangle. The example of hyperbolic cross-section seems to be new.
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